KEEZDEM (04,05

T HIARFZRA IR

Q4. FFIFRPEIAARFETRIKUEHKRZCAZUIEERZ 2 DIEAT TSV, (EHEE)

(1E#0=)
No.| H»7dU-%& = RS V) O ESZY
1 KIFVIREDT I 108 60 38 1 207
2 REZEDZRENME 83 59 44 1 187
3 RADBRLL 6 12 4 0 22
4 BEEZEUHIZV 21 22 11 0 54
5 BPIR0GE - BAEEBF(C DL 38 65 25 0 128
6 E SERE T EAA0) et ) 16 14 6 0 36
7 INEilEO/ T 24 29 21 0 74
8 fAjer< 61 32 26 0 119
9 BROURWCEEERT 71 81 26 1 179
10 | KREISTADOAEB 181 4 1 189
11| zoft 34 15 7 0 56
99 | HEEOEH 1 2 6 12
ast 453 276 132 8 869




MUEHAFEIER (FER) 2E (%) EHEE
HREBERFH « RIZFEHRFH « BEFH a2

35.0
31.8
29.0 28.7
30.0 27.8 275
25.0
20.0

o
N

16.6
15.0 57 14
10.9, 100
10.0 :
3. 7
5.0 I be ii‘ 3
OO _! 1 I

25 1.8 3.4 03
31 2 %) 0.9 0. 51 8
0 0 0.2
sl tl l, ! i |
2R N 3 z ¥ =3 Fiis3
i3 * = ﬁ F'il t F'EFJ @D % RS A [o]
o o D D pall PN {3 fit? z . pa) &
5 > ¥ U u‘-ﬂz < @D = B AR
& 7 E 1z =] U EL U
@D AN ya) (A }3‘2 s %2 D (A
El D W C gE 1= 1=
El A = & %z (A »
» BB %z =1
7 i
El D
5
1=
LY

10



B HAFRAER

Q5 MEMAFZEIRUCERRZ 3 DETERL TS, (1BEE=)
(1BHEE)
No.| »7dU-% =] RIR ] RO ESLS
1 B FARNFEEL TLBNS 35 35 21 0 91
2 | FURVEE-FRID®OENS 104 154 69 2 329
3 | BEMCERENS 80 54 33 1 168
4 | EBARBIENBINS 94 25 20 0 139
5 | RESHEPRELTLSNS 42 31 23 0 96
6 | BIMEFTHENDDNS 12 9 15 0 36
7 | FEEEEIDIITEZNS 68 44 28 1 141
8 | BEEFHNTEZNS 93 87 32 1 213
9 | BPNOXRN (REMB) [CEXTLVENS 75 59 27 0 161
10 | ABICEABUIEAFED RIS 35 37 10 0 82
11 | I5INOAEPERET S 185 2 4 1 192
12 | zofth 20 11 7 0 38
99 | fEEX 5 3 3 6 17
&5t 848 551 292 12 1,703

11




50.0

40.0

30.0

20.0

10.0

0.0

ZOfth

MBEmHATERER (FE65)

50.5

0.
I I 0. 3
Z B 2
[0} £ =
= & 7
(A == N
= )
&b T A
. = =il
¥ ) G
U <]
»o5
o El
> z
b &
72\
=}
A STHRINS > T4 T
BENSIZER N OINS
ENOEELD
HEDREIE
P ANEHOKRZTIHS
RALDE

3.4 29.5
23.7
16.0 14.3
134 12.3

MABRTFE  »RIRERTFE

a -
) B 4
D A S
ES i &
5 il =
- E I
1 ) >
= i) =
& ) 3
~ 1z -«
(C n T
= 5 =
e )
T m
(A 5
1z

73\

5

FENIZN- 345
ZEEGAEVNS
ZEECFDINS
HBihEEN2HNS
VNS

oI BNL TN

12

21.4 21.7
4.4
115 104
6.8 M6
3_§‘ 4.
T

(BlE) (EHE=)

nEEFE mK

OIE NS A C M S R ZE D E R

147 40
12.6
5.4
5.4 5.5.7
3. 3.1
A 17
II II Il- | ||
£ 1ty z
B (C @D
. = fity
fift 1%
EL L
pa) 1=
7 X
= ¥
L A
T PN
W m
3 )
pa) =
5 72
5
HEANZFETPT)
BRIB&ZTERVNS
EFELEHN Do



